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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or {4} that best completes each sentence.
Then mark the corvect choice on your answer sheet.

1-  The police only helieved me after an evewitness ——-----——- my account of the accident.
1) displaved 2) constituted 3) corroborated 4) suspected

2-  The plan is to our -—--—--—- advantage; we will all benefit greatly from it.
I} concurrent 2) mutual 3) devoted 4y involved

3-  Our organization is committed to pursuing its aims through peaceful ---------- . We totally
rejeet violenee as a means of political change.
1) mcans 2) instruments 3) devices 4) gadgets

4- Al parents reccive a booklet which ------—--- the school’s aims and objeetives before their
children start their first term.
1) clarilics 2) injects 3) conducts 4) notilics

3-  Increasing the state pension is a ---------- aim, but 1 don’t think the country can afford it.
1) redundant 2} diverse 3) flexible 47 laudable

6-  The primary aim in sumo wrestling is to knock your ---------- right out of the ring!
L) protagonist 2) opponent 3) reteree 4) beneficiary

7-  The cost of the damage caused by the oil --—--——-- will be around S200 million,
1) spill 2) guilt 3) demerit 4} extenl

8  Most of us - when we hear that many children spend more time watching TV
than they spend in school If's a rather scary thought.
1) withdraw 2) retreat 3] recoil 4) regress

9-  Even though he isn’t enrelled right now, Calvin says he will go to college ----——---- 3
1) creatively 2y delicalely 3) sentimentally 4} cventually

10-  You should avoid driving during the snowstorm becausc the icy roads are --—--——-—-,
1) superlicial 2) [rigid 3) perilous 4} cautious

PART B: Cloze Test

irections: Read the foliowing passage and decide which chotee (1), (2), (3), or (4) best 1its cach
space. Then mark the correct choive on your answer sheet.

When it comes to visually identifving a work of art, there is no single set of values or
aesthetic traits. A Baroque painting will not necessarily (11) ---—------—- much with a
conlemporary perlormance pigee, but they are both congidered art.

moshaveranetahsili.ir



i moshavepanetahsili.ir

Syl 9 (5 00) gud gt | el s bt

(12} ———----—— th¢ scemingly indefinable nature ol art, there have always cexisted
certain formal guidelines for its aesthetic judgment and analysis. Formalism 15 a concept
in art theory (13) —--—-------- an artwork’s artistic value is determined solely by its form, or
the way (14) ——---—————_ Formalism cvaluates works on a purcly visual level, (13) --——--
medium and compositional elements as opposed to any reference to realism, context, or
content.

11- 1) share 2) be sharing 3) have shared 43 be shared
12- 1) Although 2) Despile 3) Regardless 4) However
13- 1)that 2) thatin it 3) which 4} in which

14- 1) of it made 2) made 3) how 1t is made 4) it is made
15- D)arc considered  2) considers 3) considering 4) and considcr

PART C: Reading Comprehension

Dircetions: Read the following three passages and answer the questions by choosing the
best choice (1}, (2), (3), or (4). Then mark the correct choice on vour answer sheet.

PASSAGE 1:

It 1s difficult to achieve a four-fold improvement in environmental performance
through incremenial  improvemenis  in o conventional  production  technologics;
Improvements ¢f this magnitude usually call for a paradigm shill.

For a growing numbcer ol companics, the inspiration lor such a paradigm shili is
coming from the products and processes found in natural ecosystems and the
organisins that live in them. Biomimicry is the name coined for this approach in which
industrial production systems imitate nature. Industrial biotechnology is that set of
technologies that come from adapting and modifying the biological organisms,
processcs, products, and systems [ound in nature [or the purposc ol producing goods
and serviees.

The organisms. processes. products and systems found in natural ecosystems have
evolved over millions of years to become highly efficient. For example. all energy 1in
natural ecosvstems s renewable and is initially captured from sunlight through
photosynthesis. Also, all bio-organic chemicals and materials are rencwable,
biodegradable and recveled. There 15 no such thing as "wasie” - the by-products ol ong
organism are the nutrients for another. Most metabolic processes are catalysed by
enzymes and are highly specific and efficient.

Biotechnology has evolved over the last 25-30 years into a set of powerful tools for
developing and  oplimising the cfficicney ol bioprocesses and  the  gpecilic
characicristics ol bioproducts. This incrcasc in cllicicncy and specilicity has greal
polential lor moving industry along the path 1o sustainability. Increased elliciency
allows for greater use of renewable resources without leading to their depletion,
degradation of the eavironment and a negative impact on quality of life.
Biotechnology ¢an become an important tool for decoupling economic growth from
degradation of the environment and the quality of life. Biotechnology can also enable
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the design of processes and products whose performance cannot be achieved using
conventional chemistry or petroleum as feedstock.

It’s stated in the passage that biomimicry is a/an -----—---—-,

1) activily concerned with the processing ol raw matcerial and manulaclure of goods

2) technology hamessing process Lo develop products thal help iimprove our lives

3) phenomenon charactlerized by the superlicial resemblance ol organisms and oiher
objects

4) method for creating solutions te human challenges by emulating designs and ideas
found in nature

All of the following are features of bio-organic chemicals EXCEPT -------—--,

1) not being depleted over time

2) producing less waste

3) converting into reusable materials

4) being decomposed by bacteria or other living organisms

The ability of bioproducts to be maintained at a certain rate or level is the result of --——--—-- ;

1) their gradual evolution over millions of years

2) incremental inprovements in conventional production technologies

3) increasing their efficiency of bioprocesses and their specific features

4) newly developed technology introduced into conventional industry

The word *decoupling” in paragraph 4 means ---—------—-,

1) scparale 2) decrease

3) stimulate 4) restrict

Which sentenee, basced on the passage, is NOT truce?

1) A fundamental change requires to achieve a high improvement in environmental
performance.

2) Enzymes can catalyzc all chemical reactions with high clTicieney,

3) The only source of cnergy in the nature is Sun.

4) Biolcchnology has been used o oplimize the quality ol lilc.

PASSAGE 2:

A bioassay 1s dclined as & procedure lor determining the concentration andfor
biological activily ol a substance by measuring its cllect on an organism, lissue, ccll,
enzyme or receptor preparation compared to a standard preparation. Depending on the
type of ohserved effect and on the biorecognition element chosen. there are a large
number of bioassayy. Bicassays arc widely used (or drug development, environmental
moniloring and pellutant detection. In the pharmaccutical licld, bioassays arc
cmploved in dillerent stages ol the drug discovery process, mainly o lest the
biological activity of libraries of potential therapeutic agents for lead identification and
optimization. Each target must be screened against different libraries that can exceed
one million compounds, for this reason it is suitable for high-throughput approaches
arc nccessary. The major (vpe ol bioassays being conducted in pharmaccutical
laboratorics today arc ccll-bascd assavs. For cnvirommncntal monitoring, bioassays have
been used to assess toxicity of different chemicals substances on environmental living
organisms. Thus. bioassays have been used to assess toxicity of an effluent or a
pollutant by exposing a standard test organism to several concentrations of the
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suspected samples and observing the resulting effect established by the Environmental
I’rotection Agency. ‘The test organisms incorporated in that type of assays include
representatives  from  four groups: microorganisms, plants, invertebrates and
vericbrates. In the casc of microbial bioassavs the iesls are based on migrobial
transformations, growth and mortality, respiration inhibition and luminescent. For the
plant and algac bioassays the (ests are based on growth responscs ol plant and the
detection gaseous agents or tluorescence emission of photosynthetic processes. The
two main freshwater toxicity tests with invertebrates, which are routinely used. are
survival and reproduction tests. ln the case of vertebrate, the tests are usually based on
larval growth and survival, Metals, pesticides, herbicides, surfactants, endocrine
disrupting compounds, toxic gascs and hvdrocarbons can be detected on these
bioassays. Morcover, pharmacceutical drugs present in environmemtal and lood samples
are also seldom analvsed with bioassays, used as a screening methodology to minimize
the number of samples to be assessed by the official control routines.

The author of this passage wants to -—--—----- A

1) emphasize various kinds ol bicassays

2) convince rescarchers (0 use bioassay lesling

3) explain the principle of bioassays

4) identify essentials in bioassay development

Bioassays, according to the passage, are -—---—--—-,

1) the delermination or conceniration ol a substance in the environment

2) measuring the purity of products comparcd with the original oncs

3) qualitative texts used Lo observe the activitics ol a living organism

4) biochemical tests that estimate the relative strength of a sample compound to a
standard one

You can conclude from the passage that a typical bicassay involves all of the following
EXCEPT - i

1) a procedure 2) a stimulus

3) a subject 4) a response

The word “lead™ in line 8 can be substituted by ---—-—--—- .

1) initial 2) principal

3) typical 4) optional

The bioassay tests for determining the pharmaceutical drugs in the environment are
1} plant survival and reproduction 2) the ofticial control routines

3) rarely used by experts 4) based on larva growth and survival
PASSAGE 3:

Biodiesel 1s produced by combining vegetable oil or animal fat with an alechol and
a calalyst through a chemical process known as transesterification, Oil for biodicscl
production can be extracled [rom almost any oilsced crop; globally, the most popular
sources are rapesced in Lurope and sovbean in Brarzil and the Uniied Statles ol
America. In tropical and subtropical countries, biodiesel is produced from palm,
coconut and jatropha oils. Small amounts of animal fat, from fish- and animal-
processing operations, are also used for biodiesel production. 1'he production process
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typically yvields additional by-products such as crushed bean cake (an animal feed) and
glvcerine. Because biodiesel can be based on a wide range of oils, the resulting fuels
can display a greater variety of physical properties. such as wviscosity and
combuslibility, than ¢thanol.

Biodicsel can be blended with traditional dicscl [uel or burned in its purc [orm in
compression ignition cngines. Its energy content is 88-95 percent of that ol dicscl, but
it improves the lubricity ot diesel and raises the cetane value, making the fuel
economy of both generally comparable. The higher oxygen content of biodiesel aids in
the completion of fuel combustion, reducing emissions of particulate air poellutants.
carbon monoxide and hydrocarbons.

As with c¢thanol, dicsel also contains only a negligible amount of sulphur, thus
reducing sulphur oxide emissions [rom vehieles.

This passage is mainly about --—--—--——,
Iy alternative fuel sources 2) a renewable source of energy
3) methods for biodicscel production 4) phasing out fossil-fucl usc

Transesterification process, Its stated in the passage, is a --—--—--.

1) process used to improve the reaction rate and vield

2) tast chemical process used to produce a fuel for cars

3) chemical reaction carried out by mixing the reactants — fatty acid, alcohol and catalyst

4) chemical reaction that lorms al least a type of compound produced by reaclion
between acids and alcohols

It’s referred in the passage that ---—---—--—-,

1) sulphur in fossil fuel enhances the effectiveness of emission control system

2) the level of sulphur in biodiesel is being decreased

3) sulphur s a major by-product of nearly all chemical reactions

4) cthanol containg a considerable amount of sulphur

All of the following are the advantages of using biediesel in traditional fuels EXCEPT

1) cetane number increase 2) better lubricity

3} full viscosity increase 4) less emissions

Which sentence, according to the passage, is True?

1) Biodiesel has lower energy content than petrodicsel,

2) Crushed bean cake 1s & resulting product ol biodiesel ignition.

3) The content ol oxygen has a negligible ellect on luel combustion.
4) Biodiesel is the product of non-edihle seeds.
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